Cam Units CHD
Schieber CHD
Unita a Camme CHD

OMCR

S TANDARD DIE COMPON




TECHNICAL NOTES ‘¥ OMCR

AERIAL CAM UNIT - OBEN HANGENDER SCHIEBER - UNITA A CAMME SOSPESA

orce wi F kN
WITSLIRE Slider Width Caﬁ:ulfzidght W%\r,kxA}:ea shoulder Ll Page

T

CHDO50 0°+65° (5° steps) 50 180 50x65 60 1,14:131  1,44:172 688
CHDO065 0°+65° (5° steps) 65 180 65x65 60 1,14:131  1,44:172 692
CHD080 0°:+65° (5° steps) 80 275 80x88 149 1,13+1,37  1,50+1,85 696
CHD100 0°+65° (5° steps) 100 275 100x88 149 1,13:137  1,50+1,85 700
CHD150 0°+65° (5° steps) 150 355 150x120 391 2,29 7,15 704
CHD180 0°+65° (5° steps) 180 355 180x120 396 2,29 7,15 708
CHD200 0°+65° (5° steps) 200 355 200x120 396 2,29 7,15 712
CHD250 0°+65° (5° steps) 250 355 250x160 645 4,58 14,30 716
CHD300 0°+65° (5° steps) 300 355 300x160 645 4,58 14,30 720

o
T
(o]
2
<
=)
£
<
o]

I

High stock availability

687 INDEX



OMCR

AERIAL CAM UNIT - OBEN HANGENDER SCHIEBER - UNITA A CAMME SOSPESA

Max Work | Exiraction Force
Work Force with (kN)
OMCR | Angle shoulder
cooE | B

CHD050.00 0° 14,98 60 1,31 1,72
CHD050.05 5° 15,62 60 1,30 1,67
CHD050.10  10° 15,64 60 1,14 1,60
CHD050.15  15° 16,96 60 1,14 1,60
CHD050.20  20° 18,43 60 1,14 1,60
CHD050.25  25° 18 60 1,29 1,53
CHD050.30  30° 17,36 60 117 1,47
CHD050.35 35° 18,87 60 117 1,47
CHD050.40  40° 20,57 60 1,17 1,47
CHD050.45  45° 22,54 60 117 147
CHD050.50  50° 23,34 60 1,17 1,44
CHD050.55 = 55° 26,05 60 117 1,44
CHD050.60  60° 31,51 60 1,17 1,47
CHD050.65 65° 36,57 60 1,17 1,47

OPTION CODE

SL 1+ 60 (1mm steps)

*Return Type: G = Gas Spring/ $ = Spring OPTION CODE

ORDER Art. Work Angle =5° | Return Type* SL
[ <[ cHposo 05 6 SL55

Overall Dimensions

CHD050.00 0° 185 67,50 80 205
CHD050.05 5° 188,04 68,29 75 200
CHD050.10 10° 185,99 69,77 65 190
CHD050.15 15° 188,77 71,95 65 190
CHD050.20 20° 186,34 74,79 55 180
CHD050.25 25° 181,62 80,28 4 166
CHD050.30 30° 180,58 85,39 40 165
CHD050.35 35° 177,15 90,10 25 150
CHD050.40 40° 173,29 95,35 22,5 147,5
CHD050.45 45° 169,94 98,13 10 135
CHD050.50 50° 164,07 99,37 5 130
CHD050.55 55° 158,64 111,04 -15 110
CHD050.60 60° 152,61 118,08 -25 100
CHD050.65 65° 145,95 125,44 -35 90

688

INDEX


https://www.omcr.it/download/Informazioni%20tecniche/CHD/Technical_info_CHD050.pdf?1560928282
https://omcr.it/download.php?p=download%2FCad+3d%2FUnita+a+camme%2FCATIA_V5%2FCHD%2FCHD050
https://omcr.it/download.php?p=download%2FCad+3d%2FUnita+a+camme%2FSTEP%2FCHD%2F%2FCHD050

OMCR

AERIAL CAM UNIT - OBEN HANGENDER SCHIEBER - UNITA A CAMME SOSPESA

125 13 (2x)
—=162,5 10,05
12,5

E
o -

< 0 _ _
s o &

—

X
20 h7

@ 7 dowel pin
12,5 100 prepared hole (2x)

—
—

[a)
CAM DIAGRAM §
[ WEB | s
& ,;oa‘g')\ ?
Q{\‘\g f S
o""% £
WANE
S~
sliderw S if
°”f%\/

ll i

Work | Inner | Work D
Angle | Angle | Stroke

(mm)

[ 6o s | s | G|

0° 50° 1498 17,85 23,3

5 50° 1562 1692 22 12,5 165
10°  50° 1564 1564 20,1

15° | 50° | 1696 1586 20 13 (2x) ,  20h7

200 5° 1843 1630 20 l ‘ ‘ J
25 500 1800 1521 18 - b 1 - .
30°  50° 1736 1415 16 I |[©-—- i@f@}i’ 3
3 5° 1887 1496 16 S

4°  5° 2057 1600 16 T« 80 1005 T
45 5 2254 1733 16 115

50° 50 2334 1788 15 190

55°  50° = 26,05 20,03 15
60°  50° 31,51 24,51 16
65°  50° = 36,57 29,00 16

689 INDEX


https://www.omcr.it/download/Informazioni%20tecniche/CHD/Technical_info_CHD050.pdf?1560928282

OMCR

RETURN TYPE G

INDEX

ey
CHDO050 &y

AERIAL CAM UNIT - OBEN HANGENDER SCHIEBER - UNITA A CAMME SOSPESA

/ﬂ
/

/

/

/

690



GMCR

AERIAL CAM UNIT - OBEN HANGENDER SCHIEBER - UNITA A CAMME SOSPESA

SLIDER STRUCTURE, POSITIVE RETURN STRUCTURE AND CLEARANCES

© 0N e U R W N -

-
o

116
118
12
13
14
15

Cam Base
0.01+0.02
Plate
Guide Bar
0.01:0.02
Cam Slider
0.01:0.03 '
T Positive Return
[«
I
Cam Driver
PART LIST

Cam Base
Cam Slider
Plate
Cam Driver
Guide Bar
Spring Spacer
Positive Return R
Key
Key
Male "V" Driver
Gas Spring - Return Type G
Spring - Return Type S
Positive Return L
Cam Driver Fixing Screws M12x35 DIN 912
Cam Base Fixing Screws M12x45 DIN 912
Gas Spring Spacer

CK45
GG-30
CuZn25AI5 + Graphite - HB > 190
CK45
CuZn25AI5 + Graphite - HB > 190
CK45
42CrMo4 Nitrided
CK45
CK45
CuzZn25Al15 + Graphite - HB > 190

42CrMo4 Nitrided

CK45

1
1
1
1
1
1
1
2
1
1
1
1
1
2
2
1

691

INDEX

o
T
(o]
%)
=
=
=)
£
<
o]




OMCR

AERIAL CAM UNIT - OBEN HANGENDER SCHIEBER - UNITA A CAMME SOSPESA

Max Work Extraction Force
Force with (kN)
OMCR

i I

(HiD]3
__Fs | soring
CHD065.00 0° 14,98 60 1,31 1,72
CHD065.05  5° 15,62 60 1,30 1,67
CHD065.10  10° 15,64 60 1,14 1,60
CHD065.15 = 15° 16,96 60 1,14 1,60
CHD065.20  20° 18,43 60 1,14 1,60
CHD065.25 = 25° 18 60 1,29 1,53
CHD065.30  30° 17,36 60 1,17 1,47
CHD065.35  35° 18,87 60 117 1,47
CHD065.40  40° 20,57 60 1,17 147
CHD065.45 = 45° 22,54 60 1,17 1,47
CHD065.50  50° 23,34 60 1,17 1,44
CHD065.55 = 55° 26,05 60 1,17 1,44
CHD065.60  60° 31,51 60 1,17 1,47
CHDO065.65 65° 36,57 60 117 1,47

OPTION CODE

SL 1+ 60 (1mm steps)

*Return Type: G = Gas Spring/ $ = Spring OPTION CODE

ORDER Art. Work Angle =5°  Return Type* SL
[ Y| cHooes 05 G $L55

Overall Dimensions

CHD065.00 0° 185 67,50 80 205
CHD065.05 5° 188,04 68,29 75 200
CHD065.10 10° 185,99 69,77 65 190
CHD065.15 15° 188,77 71,95 65 190
CHD065.20 20° 186,34 74,79 55 180
CHD065.25 25° 181,62 80,28 4 166
CHD065.30 30° 180,58 85,39 40 165
CHD065.35 35° 177,15 90,10 25 150
CHD065.40 40° 173,29 95,35 22,5 147,5
CHD065.45 45° 169,94 98,13 10 135
CHD065.50 50° 164,07 99,37 5 130
CHD065.55 55° 158,64 111,04 -15 110
CHD065.60 60° 152,61 118,08 -25 100
CHD065.65 65° 145,95 125,44 -35 90

692

INDEX


https://www.omcr.it/download/Informazioni%20tecniche/CHD/Technical_info_CHD065.pdf?1560928282
https://omcr.it/download.php?p=download%2FCad+3d%2FUnita+a+camme%2FCATIA_V5%2FCHD%2F%2FCHD065
https://omcr.it/download.php?p=download%2FCad+3d%2FUnita+a+camme%2FSTEP%2FCHD%2F%2FCHD065

OMCR

AERIAL CAM UNIT - OBEN HANGENDER SCHIEBER - UNITA A CAMME SOSPESA

125 @13 (2x)
—=162,5 10,05
12,5
|| /4
< - ® g ©
< g {} B & B 6 <
|
x 20 h7 x o
7 dowel pin
12,5 100 prepared hole (2x)

[a)
I
CAM DIAGRAM 7
| WEB | E
o“g')\ 2
e® o
c;{\(‘g% S
= £
[
< 2o
]
L =
B
s”derws ii
°rk Sty
Oke
D
Slider
Work | Inner | Work
Angle | Angle | Stroke
(mm)
0° 50° 1498 17,85 23,3 12,5 165
5° 50° 15,62 16,92 22
013 (2x) 20 h7

10° | 50° 1564 1564 20,1
15° | 50° 1696 1586 20 l

20 50° 1843 1630 20

25° | 50° 1800 @ 1521 18 ¥ bi’i’ A€ -0
30°  50° 1736 1415 16 1

3°  50° 1887 1496 16

4°  50° 2057 1600 16 —— 115

45°  50° 2254 1733 16 190
50°  50° 2334 1788 15

55° | 50° | 2605 2003 15

60°  50° 3151 2451 16

65°  50° 3657 2900 16

s

693 INDEX


https://www.omcr.it/download/Informazioni%20tecniche/CHD/Technical_info_CHD065.pdf?1560928282

CHDO065 @ OMCR

AERIAL CAM UNIT - OBEN HANGENDER SCHIEBER - UNITA A CAMME SOSPESA

694

INDEX



GMCR

AERIAL CAM UNIT - OBEN HANGENDER SCHIEBER - UNITA A CAMME SOSPESA

SLIDER STRUCTURE, POSITIVE RETURN STRUCTURE AND CLEARANCES

Cam Base
0.01+0.02 -
Plate
< Guide Bar
0.01:0.02
P
Cam Slider
0.01:0.03 i 2
(]
£
T Positive Return 5
£
|- J
i
Cam Driver
PART LIST
I T S I R AT
1 Cam Base CK45 1
2 Cam Slider GG-30 1
3 Plate CuZn25AI15 + Graphite - HB > 190 1
4 Cam Driver CK45 1
5 Guide Bar CuZn25AI5 + Graphite - HB > 190 1
6 Spring Spacer CK45 1
7 Positive Return R 42CrMo4 Nitrided 1
8 Key CK45 2
9 Key CK45 1
10 Male "V" Driver CuZn25AI5 + Graphite - HB > 190 1
116 Gas Spring - Return Type G - 1
118 Spring - Return Type S - 1
12 Positive Return L 42CrMo4 Nitrided 1
13 Cam Driver Fixing Screws M12x35 DIN 912 - 2
14 Cam Base Fixing Screws M12x45 DIN 912 = 2
15 Gas Spring Spacer CK45 1
695

INDEX



OMCR

AERIAL CAM UNIT - OBEN HANGENDER SCHIEBER - UNITA A CAMME SOSPESA

Max Extraction Force
Work Work Force (kN)
OMCR | Angle with shoulder
I

B s | s | swing | gas g
”

CHD080.00 30,21 149 1,37 1,85
CHD080.05 5° 30,52 149 1,37 1,76
CHD080.10  10° 31,11 149 1,37 1,69
CHD080.15  15° 33,92 149 1,37 1,69
CHD080.20  20° 32,26 149 1,25 1,59
CHD080.25 = 25° 35 149 1,25 1,59
CHD080.30  30° 34,72 149 1,25 1,54
CHD080.35 35° 37,73 149 1,25 1,54
CHD080.40  40° 39,85 149 1,25 1,52
CHD080.45 = 45° 43,67 149 1,25 1,52
CHD080.50  50° 46,67 149 1,13 1,50
CHD080.55 = 55° 53,84 149 1,25 1,52
CHD080.60  60° 61,06 149 1,25 1,52
CHD080.65  65° 70,85 149 1,25 1,52

OPTION CODE

SL 1+ 60 (1mm steps)

*Return Type: G = Gas Spring /S8 = Spring

ORDER Art. Work Angle =5° | Return Type* SL
[ <€Y| cHooso 05 G SL55

CHD080.00 0° 277 110 135 305 65
CHD080.05 5° 278,32 115,67 125 295 65
CHD080.10 10° 274,54 117,32 110 280 65
CHD080.15 15° 277,58 119,95 105 275 55
CHD080.20 20° 273,34 123,52 95 265 55
CHD080.25 25° 268,75 128,03 80 250 55
CHD080.30 30° 261,73 133,42 65 235 60
CHD080.35 35° 258,20 139,66 55 225 60
CHD080.40 40° 245,09 146,70 35 205 50
CHD080.45 45° 245,34 154,49 30 200 50
CHD080.50 50° 225,87 162,97 5 175 50
CHD080.55 55° 229,64 172,07 0 170 60
CHD080.60 60° 208,58 181,73 -20 150 50
CHD080.65 65° 203,67 191,87 -30 140 50

696

INDEX


https://www.omcr.it/download/Informazioni%20tecniche/CHD/Technical_info_CHD080.pdf?1560928282
https://omcr.it/download.php?p=download%2FCad+3d%2FUnita+a+camme%2FCATIA_V5%2FCHD%2F%2FCHD080
https://omcr.it/download.php?p=download%2FCad+3d%2FUnita+a+camme%2FSTEP%2FCHD%2F%2FCHD080

AERIAL CAM UNIT - OBEN HANGENDER SCHIEBER - UNITA A CAMME SOSPESA

OMCR

D13 (4x)

@11 dowel pin

prepared hole (2x)

anidd

CAM DIAGRAM

v@)\
o cx©
©% o2

;=

o™

,p%Q‘ £

(o o

< 2

]
L =,
B

s/iderw S
Ork\\/
s"'Olre

Slider
Work | Inner | Work
Angle | Angle | Stroke
(mm)

0° 50° 30,21 36,00 47
5° 50° | 3052 = 33,07 43
10°  50° 31,11 31,11 40
15° | 50° 3392 31,72 40
20°  50° 3226 28,53 35
25°  50° 3500 | 29,58 35
30°  50° 3472 2831 32
35°  50° 37,73 29,93 32
40°  50° 39,85 31,00 31
45°  50° = 43,67 | 33,58 31
50°  50° 46,67 3575 30
55°  50° 53,84 | 4140 31
60°  50° 61,06 47,49 31
65°  50° = 70,85 56,19 31

%55k
|
050

12,5

—= 50 |=—

270

12,5

D13 (4x)

o
T
o
%)
=
=
=)
£
<
9]

@11 dowel pin
prepared hole (2x)

NV

120 22.05

| |
: —

161

697

INDEX


https://www.omcr.it/download/Informazioni%20tecniche/CHD/Technical_info_CHD080.pdf?1560928282

CHDO080 @ OMCR

AERIAL CAM UNIT - OBEN HANGENDER SCHIEBER - UNITA A CAMME SOSPESA

698



CMCR
AERIAL CAM UNIT - OBEN HANGENDER SCHIEBER - UNITA A CAMME SOSPESA

SLIDER STRUCTURE, POSITIVE RETURN STRUCTURE AND CLEARANCES

Cam Base
0.01+0.02
| Plate
b
| Guide Bar
|
l=|j/ Cam Slider
Q
$ T
(]
g w
2
0.01:0.03 | £
! o >
£
Positive Return U
AN
|
i Cam Driver
PART LIST
1 Cam Base GG-30 1
2 Cam Slider GG-30 1
3 Plate CuZn25AI5 + Graphite - HB > 190 1
4 Cam Driver GG-30 1
5 Guide Bar CK45 + Graphite 1
6 Spring Spacer CK45 1
7 Positive Return 42CrMo4 Nitrided 2
8 Key CK45 3
9 Male *V" Driver CuZn25AI5 + Graphite - HB > 190 1
10G Gas Spring - Return Type G - 1
108 Spring - Return Type S - 1
1 Cam Driver Fixing Screws M12x50 DIN 912 - 4
12 Cam Base Fixing Screws M12x55 DIN 912 = 4
13 Gas Spring Spacer CK45 1

699 INDEX



OMCR

AERIAL CAM UNIT - OBEN HANGENDER SCHIEBER - UNITA A CAMME SOSPESA

Max Extraction Force
Work Work Force (kN)
OMCR | Angle with shoulder
I

B s | s swing | Gas g
”

CHD100.00 30,21 149 1,37 1,85
CHD100.05 5° 30,52 149 1,37 1,76
CHD100.10  10° 31,11 149 1,37 1,69
CHD100.15  15° 33,92 149 1,37 1,69
CHD100.20 20° 32,26 149 1,25 1,59
CHD100.25 25° 35 149 1,25 1,59
CHD100.30  30° 34,72 149 1,25 1,54
CHD100.35 35° 37,73 149 1,25 1,54
CHD100.40  40° 39,85 149 1,25 1,52
CHD100.45  45° 43,67 149 1,25 1,52
CHD100.50  50° 46,67 149 1,13 1,50
CHD100.55 = 55° 53,84 149 1,25 1,52
CHD100.60 60° 61,06 149 1,25 1,52
CHD100.65  65° 70,85 149 1,25 1,52

OPTION CODE

SL 1+ 60 (1mm steps)

*Return Type: G = Gas Spring /8 = Spring 0P

ORDER Art. Work Angle =5° | Return Type* SL
[ <y| cHoioo 05 G SL55

CHD100.00 0° 277 110 135 305 65
CHD100.05 5° 278,32 115,67 125 295 65
CHD100.10 10° 274,54 117,32 110 280 65
CHD100.15 15° 277,58 119,95 105 275 55
CHD100.20 20° 273,34 123,52 95 265 55
CHD100.25 25° 268,75 128,03 80 250 55
CHD100.30 30° 261,73 133,42 65 235 60
CHD100.35 35° 258,20 139,66 55 225 60
CHD100.40 40° 245,09 146,70 35 205 50
CHD100.45 45° 245,34 154,49 30 200 50
CHD100.50 50° 225,87 162,97 5 175 50
CHD100.55 55° 229,64 172,07 0 170 60
CHD100.60 60° 208,58 181,73 -20 150 50
CHD100.65 65° 203,67 191,87 -30 140 50

700

INDEX


https://www.omcr.it/download/Informazioni%20tecniche/CHD/Technical_info_CHD100.pdf?1560928282
https://omcr.it/download.php?p=download%2FCad+3d%2FUnita+a+camme%2FCATIA_V5%2FCHD%2F%2FCHD100
https://omcr.it/download.php?p=download%2FCad+3d%2FUnita+a+camme%2FSTEP%2FCHD%2F%2FCHD100

OMCR

AERIAL CAM UNIT - OBEN HANGENDER SCHIEBER - UNITA A CAMME SOSPESA

@ 11 dowel pin
@13 (4x) 170 prepared hole (2x)
E 0,05
l 5 P N
m - % E 77777 { B 8 'Q
x g % T i
20 h7 |
12,5 145 —
A o
. = =
CAM DIAGRAM ‘ o
[ Web | £
< ‘o“g')\ S o 2
A\ ~
e’ I | r{ ) S
,p%Q £ o e
& g N y
o0 Py, 7
< S Wsy,_
4 e
. S ™ )
B T X
Sliderw s B 4 ‘\
Or/r\\/ S

Stro,re L . 4—1

(=]
D
Slider
Work | Inner | Work
Angle | Angle | Stroke
(mm)
12,5 245 @11 dowel pin

0° 50° 30,21 36,00 47

5 500 305 | 3307 43 D 1340 aﬁ‘i
100 50° 3141 3111 40 l

_prepared hole (2x).

15 50° 3392 3172 40 > - 4 l }
e 4
20°  50° 3226 2853 35 8 1 EE o8 8
25°  50° 3500 @ 2958 35 > O T ¢
3° 500 3472 2831 &2 T L ippuss \
35°  50° 37,73 | 2093 32
40°  50° 3985 3100 31 161
45°  50° 4367 3358 31 270
50°  50° 4667 3575 30
55°  50° 5384 4140 31
60°  50° 61,06 4749 31
65° 50° 70,85 5619 31
701

INDEX


https://www.omcr.it/download/Informazioni%20tecniche/CHD/Technical_info_CHD100.pdf?1560928282

CHD100 @ OMCR

AERIAL CAM UNIT - OBEN HANGENDER SCHIEBER - UNITA A CAMME SOSPESA

702

INDEX



GMCR

AERIAL CAM UNIT - OBEN HANGENDER SCHIEBER - UNITA A CAMME SOSPESA

SLIDER STRUCTURE, POSITIVE RETURN STRUCTURE AND CLEARANCES

Cam Base
0.01+0.02
| Plate
T 7
| Guide Bar
0.01:0.02 |
|
uj/ Cam Slider
[a]
' T
. | 2
0.01+0.03 ! |
I c
>
Positive Return £
* (@}
N
|
i Cam Driver
PART LIST
1 Cam Base GG-30 1
2 Cam Slider GG-30 1
3 Plate CuZn25AI5 + Graphite - HB > 190 1
4 Cam Driver GG-30 1
5 Guide Bar CK45 + Graphite 1
6 Spring Spacer CK45 1
7 Positive Return 42CrMo4 Nitrided 2
8 Key CK45 3
9 Male V" Driver CuZn25AI5 + Graphite - HB > 190 1
10G Gas Spring - Return Type G - 1
108 Spring - Return Type S - 1
1" Cam Driver Fixing Screws M12x50 DIN 912 - 4
12 Cam Base Fixing Screws M12x55 DIN 912 = 4
13 Gas Spring Spacer CK45 1

703 INDEX



OMCR

AERIAL CAM UNIT - OBEN HANGENDER SCHIEBER - UNITA A CAMME SOSPESA

Max Extraction Force
Work Work Force ()]
OMCR | Angle with shoulder
coDE | B

B s s swing s Sy
”

CHD150.00 28,68 391 2,29 7,15
CHD150.05  5° 32,26 391 2,29 7,15
CHD150.10  10° 35,90 391 2,29 7,15
CHD150.15  15° 39,65 391 2,29 7,15
CHD150.20  20° 43,59 391 2,29 7,15
CHD150.25  25° 47,78 391 2,29 7,15
CHD150.30  30° 52,33 391 2,29 7,15
CHD150.35  35° 57,36 391 2,29 7,15
CHD150.40  40° 63,05 391 2,29 7,15
CHD150.45  45° 69,64 391 2,29 7,15
CHD150.50  50° 77,49 391 2,29 7,15
CHD150.55 = 55° 87,17 391 2,29 7,15
CHD150.60 60° 99,62 391 2,29 7,15
CHD150.65 65° 116,51 391 2,29 715

*Return Type: G = Gas Spring /8 = Spring

ORDER Art. Work Angle =5° | Return Type*
N[ €| chotso 05 G

Overall Dimensions

CHD150.00 0° 325 130 80 310 25
CHD150.05 5° 319,70 133,26 60 290 25
CHD150.10 10° 319,06 137,79 45 275 25
CHD150.15 15° 322,98 143,56 35 265 20
CHD150.20 20° 326,33 150,51 25 255 15
CHD150.25 25° 329,03 158,61 15 245 10
CHD150.30 30° 325,98 167,78 0 230 0
CHD150.35 35° 322,08 192,95 -15 215 0
CHD150.40 40° 312,26 204,06 -35 195 0
CHD150.45 45° 306,42 216,01 -50 180 0
CHD150.50 50° 294,51 228,71 -70 160 0
CHD150.55 55° 281,46 242,07 -90 140 0
CHD150.60 60° 272,22 255,98 -105 125 0
CHD150.65 65° 261,75 270,34 -120 110 0

704

INDEX


https://www.omcr.it/download/Informazioni%20tecniche/CHD/Technical_info_CHD150.pdf?1560928282
https://omcr.it/download.php?p=download%2FCad+3d%2FUnita+a+camme%2FCATIA_V5%2FCHD%2F%2FCHD150
https://omcr.it/download.php?p=download%2FCad+3d%2FUnita+a+camme%2FSTEP%2FCHD%2F%2FCHD150

cHpiso &3 OMCR

AERIAL CAM UNIT - OBEN HANGENDER SCHIEBER - UNITA A CAMME SOSPESA

X VIEW E 230
@12 H7 (2x)

@13 (4x) 200
32h7
\
l | K 1
i gt
.:°- e f——f—l‘—f = T & 8
T , [ ¢
- o |
T 15
65 0,05
115 10,05 70

[a)]
T
CAM DIAGRAM =
[ WEB | =
o &*z)\ 2
A\
o AT :
" 2
WARE
&
e
%s if
or/r%\/
D

Slider

Work | Inner | Work

Angle | Angle | Stroke 25 275 @12 H7 (2x)
) 32h7

0° | 55 2868 4096 50 i © " q

5° | 55 3226 | 4111 50 © ¢ > T
10° 55 3590 4159 50 T ‘ | ET
16° | 55° | 3965 @ 4240 50 8 o (el 8 8¢
20° 55 4359 4350 50 I 1 l
25° 55 4778 4519 | 50 y l
30° 55 5233 4729 50 0 &

35° 55 57,36 5000 50

40°  55° 6305 5347 50 180 220

450 s eoed 592 50 P17(4x) 280

50° 55 7749 6372 50 300 2205

55° 55° 87,17 71,41 50 325

60°  55° 99,62 81,92 50
65°  55° 116,51 = 96,91 50

705 INDEX


https://www.omcr.it/download/Informazioni%20tecniche/CHD/Technical_info_CHD150.pdf?1560928282

OMCR

AERIAL CAM UNIT - OBEN HANGENDER SCHIEBER - UNITA A CAMME SOSPESA

ey
CHD150 \“ﬂl;

RETURN TYPE G

ETURN TYPE S

IIIIIIIIIIII

£

706



CHD150 @

AERIAL CAM UNIT - OBEN HANGENDER SCHIEBER - UNITA A CAMME SOSPESA

OMCR

SLIDER STRUCTURE, POSITIVE RETURN STRUCTURE AND CLEARANCES

Cam Base

Slide Plate

Side Plate

Cam Slider

Positive Return

Cam Driver

N .

0.01+0.02

0.01+0.02

L_ 0.01+0.03

S~

5]

|
|
S |
|
|

it
|
i

PART LIST

1 Cam Slider GG-30 1
2 Cam Base GG-30 1
3 Cam Driver GG-30 1
4 Male "V" Driver CK45 1
5 Female "V" Driver CuZn25AI5 + Graphite - HB > 190 1
6 Side Plate CK45 2
7 Slide Plate L CuZn25AI5 + Graphite - HB > 190 1
8 Wear Plate CuZn25AI5 + Graphite - HB > 190 2
9 Safety Pin CK45 1
10 Stopper Plate St 52 1
1 Spring Guide Pin CK45 1
12 Slide Plate R CuZn25AI15 + Graphite - HB > 190 1
13 Positive Return CuZn25AI5 - HB > 190 1
14 Positive Return 42CrMo4 Nitrided 1
15 Key CK45 6
16 Shaft CK45 1
17 Roller Bracket CK45 1
18 Accelerator CK45 1
19 Wear Plate CK45 4
20 Roller NATR15PP 1
21G Gas Spring - Return Type G - 1
218 Spring - Return Type S - 1
22 Cam Driver Fixing Screws M12x50 DIN 912 = 4
23 Cam Base Fixing Screws M16x70 DIN 912 - 4
24 Gas Spring Spacer CK45 1
25 Elastomer Cap Elastomer 92SH 4
707

INDEX

o
T
o
%)
=
=
=)
£
<
o]




OMCR

AERIAL CAM UNIT - OBEN HANGENDER SCHIEBER - UNITA A CAMME SOSPESA

Max Extraction Force
Work Work Force (kN)
OMCR | Angle i
CODE “

CHD180.00 ©0° 28,68 396 2,29 7,15
CHD180.05  5° 32,26 396 2,29 7,15
CHD180.10  10° 35,90 396 2,29 7,15
CHD180.15  15° 39,65 396 2,29 7,15
CHD180.20 20° 43,59 396 2,29 7,15
CHD180.25  25° 47,78 396 2,29 7,15
CHD180.30  30° 52,33 396 2,29 7,15
CHD180.35  35° 57,36 396 2,29 7,15
CHD180.40  40° 63,05 396 2,29 7,15
CHD180.45  45° 69,64 396 2,29 7,15
CHD180.50  50° 77,49 396 2,29 7,15
CHD180.55 = 55° 87,17 396 2,29 7,15
CHD180.60  60° 99,62 396 2,29 7,15
CHD180.65 65° 116,51 396 2,29 7,15

*Return Type: G = Gas Spring /$ = Spring

ORDER Art. Work Angle =5° | Return Type*
N[ €| choteo 05 G

Overall Dimensions

CHD180.00 0° 325 130 80 310 25
CHD180.05 5° 319,70 133,26 60 290 25
CHD180.10 10° 319,06 137,79 45 275 25
CHD180.15 15° 322,98 143,56 35 265 20
CHD180.20 20° 326,33 150,51 25 255 15
CHD180.25 25° 329,03 158,61 15 245 10
CHD180.30 30° 325,98 167,78 0 230 0
CHD180.35 35° 322,08 192,95 -15 215 0
CHD180.40 40° 312,26 204,06 -35 195 0
CHD180.45 45° 306,42 216,01 -50 180 0
CHD180.50 50° 294,51 228,71 -70 160 0
CHD180.55 55° 281,46 242,07 -90 140 0
CHD180.60 60° 272,22 255,98 -105 125 0
CHD180.65 65° 261,75 270,34 -120 110 0

708

INDEX


https://www.omcr.it/download/Informazioni%20tecniche/CHD/Technical_info_CHD180.pdf?1560928282
https://omcr.it/download.php?p=download%2FCad+3d%2FUnita+a+camme%2FCATIA_V5%2FCHD%2F%2FCHD180
https://omcr.it/download.php?p=download%2FCad+3d%2FUnita+a+camme%2FSTEP%2FCHD%2F%2FCHD180

OMCR

AERIAL CAM UNIT - OBEN HANGENDER SCHIEBER - UNITA A CAMME SOSPESA

XVIEW
E 230
@12 H7 (2x)
@13 (4x) 200
32h7
\
l | IR P
F
g 1o @ 3 T
el RO e
2 3
B o
15
65 0,05
115 :0,05 70

[a)
CAM DIAGRAM E:w)
[ WEB | s
5 903‘@)\ ?
Y I 8 S
99(\ 5]
o £
WANE
g !

Slider 25
Work | Inner | Work 275
Angle | Angle | Stroke 32h7 @12 H7 (2x)
(mm) l
[ 8 | o s | Ps | Gs | LIS s o]
0° | 55° 2868 | 4096 | 50 b [
o
5° | 55 3226 | 4111 50 gl
10°  55° 3500 @ 4159 50 g o 17, o[- 888
15° | 55° 3965 | 4240 @ 50 |
20°  55° 4359 4359 50 l L
25°  55° 47,78 | 4519 50
Fe) [
30°  55° 5233 4729 50
35°  55° 5736 50,00 50 P17 @x) | gq 2005 |
40°  55° 6305 5347 50 280
45°  55° 6964 | 5792 50 0.0
300 =%
50° 55 7749 6372 50
55°  55° 87,17 7141 50 825

60°  55° 99,62 81,92 50
65°  55° 116,51 = 96,91 50

709 INDEX


https://www.omcr.it/download/Informazioni%20tecniche/CHD/Technical_info_CHD180.pdf?1560928282

OMCR

ey
CHD180 &y

AERIAL CAM UNIT - OBEN HANGENDER SCHIEBER - UNITA A CAMME SOSPESA

£

710



OMCR

AERIAL CAM UNIT - OBEN HANGENDER SCHIEBER - UNITA A CAMME SOSPESA

SLIDER STRUCTURE, POSITIVE RETURN STRUCTURE AND CLEARANCES

Cam Base |
Wf
Slide Plate |
e E———
Side Plate L ! J- 0.01:0.02
Cam Slider ~ !
i 0.01+0.02
Positive Return \ ,
| 0.01:0.03
!

Cam Driver

PART LIST

o
T
o
%)
=
=
=)
£
<
o]

1 Cam Slider GG-30 1
2 Cam Base GG-30 1
3 Cam Driver GG-30 1
4 Male "V" Driver CK45 1
5 Female "V" Driver CuZn25AI15 + Graphite - HB > 190 1
6 Side Plate CK45 2
7 Slide Plate L CuZn25AI5 + Graphite - HB > 190 1
8 Wear Plate CuZn25AI15 + Graphite - HB > 190 2
9 Safety Pin CK45 1
10 Stopper Plate St 52 1
1 Spring Guide Pin CK45 1
12 Slide Plate R CuZn25A15 + Graphite - HB > 190 1
13 Positive Return Cuzn25AI5 - HB > 190 1
14 Positive Return 42CrMo4 Nitrided 1
15 Key CK45 6
16 Shaft CK45 1
17 Roller Bracket CK45 1
18 Accelerator CK45 1
19 Wear Plate CK45 4
20 Roller NATR15PP 1
21G Gas Spring - Return Type G - 1
218 Spring - Return Type S - 1
22 Cam Driver Fixing Screws M12x50 DIN 912 = 4
23 Cam Base Fixing Screws M16x70 DIN 912 - 4
24 Gas Spring Spacer CK45 1
25 Elastomer Cap Elastomer 92SH 4
711

INDEX



OMCR

AERIAL CAM UNIT - OBEN HANGENDER SCHIEBER - UNITA A CAMME SOSPESA

Max Extraction Force
Work Work Force KN
OMCR Angle with shoulder
CODE w | o8

L8 | s | Fs | swing G sprm]
”

CHD200.00 28,68 396 2,29 7,15
CHD200.05 5° 32,26 396 2,29 7,15
CHD200.10  10° 35,90 396 2,29 7,15
CHD200.15 15° 39,65 396 2,29 715
CHD200.20  20° 43,59 396 2,29 7,15
CHD200.25  25° 47,78 396 2,29 7,15
CHD200.30  30° 52,33 396 2,29 7,15
CHD200.35  35° 57,36 396 2,29 7,15
CHD200.40  40° 63,05 396 2,29 7,15
CHD200.45 45° 69,64 396 2,29 7,15
CHD200.50  50° 77,49 396 2,29 7,15
CHD200.55  55° 87,17 396 2,29 7,15
CHD200.60  60° 99,62 396 2,29 7,15
CHD200.65  65° 116,51 396 2,29 7,15

*Return Type: G = Gas Spring /8 = Spring

ORDER Art. Work Angle =5° | Return Type*
N[ €Y | chozoo 05 G

Overall Dimensions

CHD200.00 0° 325 130 80 310 25
CHD200.05 5° 319,70 133,26 60 290 25
CHD200.10 10° 319,06 137,79 45 275 25
CHD200.15 15° 322,98 143,56 35 265 20
CHD200.20 20° 326,33 150,51 25 255 15
CHD200.25 25° 329,03 158,61 15 245 10
CHD200.30 30° 325,98 167,78 0 230 0
CHD200.35 35° 322,08 192,95 -15 215 0
CHD200.40 40° 312,26 204,06 -35 195 0
CHD200.45 45° 306,42 216,01 -50 180 0
CHD200.50 50° 294,51 228,71 -70 160 0
CHD200.55 55° 281,46 242,07 -90 140 0
CHD200.60 60° 272,22 255,98 -105 125 0
CHD200.65 65° 261,75 270,34 -120 110 0

712

INDEX


https://www.omcr.it/download/Informazioni%20tecniche/CHD/Technical_info_CHD200.pdf?1560928282
https://omcr.it/download.php?p=download%2FCad+3d%2FUnita+a+camme%2FCATIA_V5%2FCHD%2F%2FCHD200
https://omcr.it/download.php?p=download%2FCad+3d%2FUnita+a+camme%2FSTEP%2FCHD%2F%2FCHD200

OMCR

AERIAL CAM UNIT - OBEN HANGENDER SCHIEBER - UNITA A CAMME SOSPESA

=] 230
@12 H7 (2x) 200 @13 (4x)
32 h7
l l N HL 1
g @ 8
SR EET e
- @
S L)
P o
15
65 +0,05
115 x0,05 70

a
CAM DIAGRAM §
| WEB | =
o 6“6‘@)\ T 0 2
(OQ{\(\Q g 8
o £
e
& 1

Slider
Work | Inner | Work 25 275
e 32h7 P12 H7 (2%)
[ 6 | a | s | P | G5 | |
0° | 55° 2868 @ 4096 50 g | @ 7l
5 | 55° 3226 4111 50 T §T {
10°  55° 3590 4159 50 ° o = o
15° | 55 | 3965 4240 50 ] = ‘L =28
20° 55 | 4350 4359 50 N l \
25°  55° | 4778 4519 50
30° 55 5233 4729 50 2 ©
35° 55 | 5736 5000 50 g0 0o
40° 55 | 6305 5347 50 B17 (4x) ’50
45 55 | 6964 57,92 50 oo
50° 55° 7749 @ 6372 50 300
55° 55° 87,17 71,41 50 325
60° 55 9962 8192 50
65> 55 | 11651 9691 50
713

INDEX


https://www.omcr.it/download/Informazioni%20tecniche/CHD/Technical_info_CHD200.pdf?1560928282

OMCR

ey
CHD200 &y

AERIAL CAM UNIT - OBEN HANGENDER SCHIEBER - UNITA A CAMME SOSPESA

RETURN TYPE G

£

714



GMCR

AERIAL CAM UNIT - OBEN HANGENDER SCHIEBER - UNITA A CAMME SOSPESA

SLIDER STRUCTURE, POSITIVE RETURN STRUCTURE AND CLEARANCES

Cam Base
|
Slide Plate : |
e ——

Side Plate L J- 0.01+0.02

Cam Slider ~. T
! 0.01:0.02

Positive Return !
~ | 0.01:0.03

|

Cam Driver

PART LIST

o
T
o
%)
=
=
=)
£
<
o]

1 Cam Slider GG-30 1
2 Cam Base GG-30 1
3 Cam Driver GG-30 1
4 Male "V" Driver CK45 1
5 Female "V" Driver CuZn25AI5 + Graphite - HB > 190 1
6 Side Plate CK45 2
7 Slide Plate L CuZn25AI5 + Graphite - HB > 190 1
8 Wear Plate CuZn25AI5 + Graphite - HB > 190 2
9 Safety Pin CK45 1
10 Stopper Plate St 52 1
1 Spring Guide Pin CK45 1
12 Slide Plate R CuZn25AI15 + Graphite - HB > 190 1
13 Positive Return CuZn25AI5 - HB > 190 1
14 Positive Return 42CrMo4 Nitrided 1
15 Key CK45 6
16 Shaft CK45 1
17 Roller Bracket CK45 1
18 Accelerator CK45 1
19 Wear Plate CK45 4
20 Roller NATR15PP 1
21G Gas Spring - Return Type G - 1
218 Spring - Return Type S - 1
22 Cam Driver Fixing Screws M12x50 DIN 912 = 4
23 Cam Base Fixing Screws M16x70 DIN 912 - 4
24 Gas Spring Spacer CK45 1
25 Elastomer Cap Elastomer 92SH 4
715

INDEX



GMCR

AERIAL CAM UNIT - OBEN HANGENDER SCHIEBER - UNITA A CAMME SOSPESA

Max Extraction Force
Work Work Force (kN)
OMCR | Angle with shoulder
codE L

CHD250.00 0° 28,68 645 4,58 14,30
CHD250.05  5° 32,26 645 4,58 14,30
CHD250.10 10° 35,90 645 4,58 14,30
CHD250.15  15° 39,65 645 4,58 14,30
CHD250.20  20° 43,59 645 4,58 14,30
CHD250.25 25° 47,78 645 4,58 14,30
CHD250.30  30° 52,33 645 4,58 14,30
CHD250.35  35° 57,36 645 4,58 14,30
CHD250.40  40° 63,05 645 4,58 14,30
CHD250.45  45° 69,64 645 4,58 14,30
CHD250.50  50° 77,49 645 4,58 14,30
CHD250.55  55° 87,17 645 4,58 14,30
CHD250.60  60° 99,62 645 4,58 14,30
CHD250.65 65° 116,51 645 4,58 14,30

*Return Type: G = Gas Spring /8 = Spring

ORDER Art. Work Angle =5° | Return Type*
N[ €| chozso 05 G

Overall Dimensions

CHD250.00 0° 325 90 80 310 25
CHD250.05 5° 323,19 93,41 60 290 25
CHD250.10 10° 326,01 98,40 45 275 25
CHD250.15 15° 333,33 104,92 35 265 20
CHD250.20 20° 340,02 112,93 25 255 15
CHD250.25 25° 345,94 122,35 15 245 10
CHD250.30 30° 345,98 133,14 0 230 0
CHD250.35 35° 345,03 160,19 -15 215 0
CHD250.40 40° 337,97 173,42 -35 195 0
CHD250.45 45° 334,71 187,72 -50 180 0
CHD250.50 50° 325,15 202,99 -70 160 0
CHD250.55 55° 314,23 219,12 -90 140 0
CHD250.60 60° 306,86 235,98 -105 125 0
CHD250.65 65° 298 253,44 -120 110 0

716

INDEX


https://www.omcr.it/download/Informazioni%20tecniche/CHD/Technical_info_CHD250.pdf?1560928282
https://omcr.it/download.php?p=download%2FCad+3d%2FUnita+a+camme%2FCATIA_V5%2FCHD%2F%2FCHD250
https://omcr.it/download.php?p=download%2FCad+3d%2FUnita+a+camme%2FSTEP%2FCHD%2F%2FCHD250

(cHp2so &3 | OMCR

AERIAL CAM UNIT - OBEN HANGENDER SCHIEBER - UNITA A CAMME SOSPESA

X VIEW E_ 230
@16 H7 (2x) 25 180 D17 (4x)
32 h7
N -
Y -
‘ L4 2
3 | B
9 I i
e e84+ —Itge- ' =3
N - | N &
‘ l |
o-g o
4 N
60 x0,05
115 +0,05 70

[a)]
CAM DIAGRAM Ej
| WEB | E
& ,;oa‘g')\ ?
Q{\‘\g f 9 V]
0069 % ©
<
£

D
Slider 2 275
Work | Inner | Work 32h7 @16 H7 (2x)
Angle | Angle | Stroke
) l ,
<
[ 6 | o 5 | P Gss | 2 ®
0° | 55° 2868 @ 4096 & 50 T ‘ |-
5 | 55 3226 4111 50 | || 3
10°  55° 3590 4159 50 ° | .o g @
=] —- e i @1 T1T-® © I
15° | 55 | 3065 4240 50 e s ‘ < MRS
20°  55° 4359 4359 50 3 !
25°  55° 4778 4519 | 50 (J\ |
30°  55° 5233 47,29 50 P
o o D ©
3°  55° 57,3 5000 50 2
40°  55° 6305 5347 50 @17 (4%) 180 2
45°  55° 6964 57,92 50 280
50°  55° 7749 6372 50 300 2205
55°  55° 87,17 7141 50
325

60°  55° 99,62 81,92 50
65°  55° 116,51 = 96,91 50

717 INDEX


https://www.omcr.it/download/Informazioni%20tecniche/CHD/Technical_info_CHD250.pdf?1560928282

OMCR

AERIAL CAM UNIT - OBEN HANGENDER SCHIEBER - UNITA A CAMME SOSPESA

ey
CHD250 \‘W’)

_ &
2 2! 060 © 9
m@ m@w’ \w\\@/
& 0@ | ie®OY

R
r
1
1
1
1
1
1
1
1
1
1
\
™~
N
_—

INDEX

718




CHD250 @ OMCR

AERIAL CAM UNIT - OBEN HANGENDER SCHIEBER - UNITA A CAMME SOSPESA

SLIDER STRUCTURE, POSITIVE RETURN STRUCTURE AND CLEARANCES

| Cam Base
i Slide Plate
T T I T / Side Plate
0.01:0.02 JI_ "EE"', JI
@ ! O ‘| Cam Slider
| -
0.01:0.02 i Positive Return
O ] O
0.01:0.03 | /?
g o
!
! — o
T
0.005+0.01 | Cam Driver g
=
>
£
PART LIST S
1 Cam Slider GG-30 1
2 Cam Base GG-30 1
3 Cam Driver GG-30 1
4 Male "V" Driver CK45 1
5 Female V" Driver CuZn25AI15 + Graphite - HB > 190 1
6 Side Plate CK45 2
7 Slide Plate L CuZn25AI5 + Graphite - HB > 190 1
8 Wear Plate CuZn25AI5 + Graphite - HB > 190 2
9 Safety Pin CK45 1
10 Stopper Plate St 52 1
1 Spring Guide Pin CK45 2
12 Slide Plate R CuZn25A15 + Graphite - HB > 190 1
13 Positive Return R CuZn25A15 - HB > 190 1
14 Positive Return L Cuzn25AI5 - HB > 190 1
15 Positive Return R 42CrMo4 Nitrided 1
16 Positive Return L 42CrMo4 Nitrided 1
17 Key CK45 6
18 Shaft CK45 1
19 Roller Bracket CK45 1
20 Accelerator CK45 1
21 Wear Plate CK45 2
22 Wear Plate CK45 4
23 Wear Plate CuZn25AI5 + Graphite - HB > 190 2
24 Roller NATR15PP 1
25G Gas Spring - Return Type G - 2
258 Spring - Return Type S - 2
26 Cam Driver Fixing Screws M16x70 DIN 912 - 4
27 Cam Base Fixing Screws M16x70 DIN 912 - 4
28 Gas Spring Spacer CK45 2
29 Elastomer Cap Elastomer 92SH 4
719

INDEX



OMCR

AERIAL CAM UNIT - OBEN HANGENDER SCHIEBER - UNITA A CAMME SOSPESA

Max Extraction Force
Work Work Force (kN)
OMCR | Angle with shoulder
coDE w |

L6 | s | R | i JGassum |
.

CHD300.00 28,68 645 4,58 14,30
CHD300.05  5° 32,26 645 4,58 14,30
CHD300.10  10° 35,90 645 4,58 14,30
CHD300.15 15° 39,65 645 4,58 14,30
CHD300.20  20° 43,59 645 4,58 14,30
CHD300.25  25° 47,78 645 4,58 14,30
CHD300.30  30° 52,33 645 4,58 14,30
CHD300.35 35° 57,36 645 4,58 14,30
CHD300.40  40° 63,05 645 4,58 14,30
CHD300.45 45° 69,64 645 4,58 14,30
CHD300.50  50° 77,49 645 4,58 14,30
CHD300.55  55° 87,17 645 4,58 14,30
CHD300.60 60° 99,62 645 4,58 14,30
CHD300.65 65° 116,51 645 4,58 14,30

*Return Type: G = Gas Spring /S = Spring

ORDER Art. Work Angle =5° | Return Type*
N[ €Y | cHpsoo 05 G

Overall Dimensions

CHD300.00 0° 325 90 80 310 25
CHD300.05 5° 323,19 93,41 60 290 25
CHD300.10 10° 326,01 98,40 45 275 25
CHD300.15 15° 333,33 104,92 35 265 20
CHD300.20 20° 340,02 112,93 25 255 15
CHD300.25 25° 345,94 122,35 15 245 10
CHD300.30 30° 345,98 133,14 0 230 0
CHD300.35 35° 345,03 160,19 -15 215 0
CHD300.40 40° 337,97 173,42 -35 195 0
CHD300.45 45° 334,71 187,72 -50 180 0
CHD300.50 50° 325,15 202,99 -70 160 0
CHD300.55 55° 314,23 219,12 -90 140 0
CHD300.60 60° 306,86 235,98 -105 125 0
CHD300.65 65° 298 253,44 -120 110 0

720

INDEX


https://www.omcr.it/download/Informazioni%20tecniche/CHD/Technical_info_CHD300.pdf?1560928282
https://omcr.it/download.php?p=download%2FCad+3d%2FUnita+a+camme%2FCATIA_V5%2FCHD%2F%2FCHD300
https://omcr.it/download.php?p=download%2FCad+3d%2FUnita+a+camme%2FSTEP%2FCHD%2F%2FCHD300

OMCR

AERIAL CAM UNIT - OBEN HANGENDER SCHIEBER - UNITA A CAMME SOSPESA

XVIEW E o 230 — o
@ 16 H7 (2x) 25 D17 (4%)
180 —=f o
32 h7
oo o
‘ © 3
g | P
H
! \
R8T g%
N - '; ‘ N o

o
CAM DIAGRAM E:w)
v@)\ >
& 9\& €
Q{\‘\g P S
0069 % ©
WAL
3
g |

Slider 25 275
Work | Inner | Work 32h7 @16 H7 (2x)
Angle | Angle | Stroke

(mm)

[ 8 | a5 | Ps | Gs | - [° o =4
8 s
0° | 55 | 2868 | 4096 | 50 < ‘
5 55 3226 4111 50 i ‘ e
10° 55° 3590 4159 50 \ S
[=] h ! o o
15° | 55° | 39,65 42,40 50 S *’”@*’h’{ ®I Qg3
20°  55° 4359 4359 50 | |
95°  55° 4778 | 4519 50 ‘ ‘
30°  55° 5233 47,29 50 >
35°  55° 5736 50,00 50 P &
Pad
40°  55° 6305 5347 50
45° 55 6964 5792 50 DI17@) |, g 005 ]
50°  55° 7749 6372 50 280
55°  55° 87,17 7141 50 300 2205
60°  55° 9962 81,92 50 325
5> 55° 11651 9691 50
721

INDEX


https://www.omcr.it/download/Informazioni%20tecniche/CHD/Technical_info_CHD300.pdf?1560928282

OMCR

-

\\\\\\

AERIAL CAM UNIT - OBEN HANGENDER SCHIEBER - UNITA A CAMME SOSPESA

ey
CHD300 &y

£

722



CHD300 @ OMCR

AERIAL CAM UNIT - OBEN HANGENDER SCHIEBER - UNITA A CAMME SOSPESA

SLIDER STRUCTURE, POSITIVE RETURN STRUCTURE AND CLEARANCES

Cam Base
i Slide Plate
e
I I T T | Side Plate
0.01:0.02 J'_ = 4'
O ! O Cam Slider
! -
0.01+0.02 ! Positive Return
O | / O
0.01:0.03 | C
i =
—//T\
I
I
? 2
0.005:0.01 Cam Driver g
£
PART LIST 2
\ 1 Cam Slider 66-30 1
2 Cam Base GG-30 1
| 3 Cam Driver GG-30 1
4 Male "V" Driver CK45 1
\ 5 Female V" Driver CuZn25AI5 + Graphite - HB > 190 1
6 Side Plate CK45 2
‘ 7 Slide Plate L CuZn25AI5 + Graphite - HB > 190 1
8 Wear Plate CuZn25AI5 + Graphite - HB > 190 2
\ 9 Safety Pin CK45 1
10 Stopper Plate St 52 1
\ 1 Spring Guide Pin CK45 2
12 Slide Plate R CuZn25AI15 + Graphite - HB > 190 1
‘ 13 Positive Return R CuZn25AI5 - HB > 190 1
14 Positive Return L CuZn25AI5 - HB > 190 1
\ 15 Positive Return R 42CrMo4 Nitrided 1
16 Positive Return L 42CrMo4 Nitrided 1
\ 17 Key CK45 6
18 Shaft CK45 1
\ 19 Roller Bracket CK45 1
20 Accelerator CK45 1
\ 21 Wear Plate CK45 2
22 Wear Plate CK45 4
‘ 23 Wear Plate CuZn25AI15 + Graphite - HB > 190 2
24 Roller NATR15PP 1
\ 25G Gas Spring - Return Type G - 2
258 Spring - Return Type S - 2
\ 26 Cam Driver Fixing Screws M16x70 DIN 912 o 4
27 Cam Base Fixing Screws M16x70 DIN 912 - 4
\ 28 Gas Spring Spacer CK45 2
29 Elastomer Cap Elastomer 92SH 4
723

INDEX



	CHD - Arerial cam unit
	TECHNICAL NOTES
	CHD050
	CHD065
	CHD080
	CHD100
	CHD150
	CHD180
	CHD200
	CHD250
	CHD300


